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Time : 3 Hours

Answer any five sub-questions. Each sub-question carries 2

olndloaddo 5 erud-dd/eri w$o*. $0 wd-$d;i 2 erodrl+b :

1. a) State any two objectives of management accounting.
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Max. Marks : 70

(5x2=10)

lnstruction : Answers should be written completely eit_figy in English

or in Kannada.

SECTION - A/ aryarl - o

b)

c)

ed r d# cJtiDado$, oln{ csa ddo add; wdedriddl 0e,1.
li

What is a common size statement ?

ndDdi rog, dtj.oocioe& ?-Je"J

Given Current Ratio, 2.5: 1

Acid test Ratio, 1.5 : 1

i,1
Current liahilities T 50;000'

Calculate :

a) Current Assets

b) Liquid Assets.

zsag d*Em2.5: 1 , q:dr doed*oO er$aEd 1.5 : 1 zro$ aaaugo dro. 50,000,

zoq e;1 airdl dddrod u! dod>baor:o.

P.T.O.
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d) What is fund flow statement ? i -

PP de.roa duflaodde& ?

e) What is meant by management reporting ?

&drdma dda $gob oodde$ ?

0 State the meaning of cash flow statement'

drleb aSooa duloou:dd e'dr ge:l

g) Gross profit iatio is 30%, gross profit is { 2,00,000. Calculate the cost of

goods sold-

fu*o *qji er$md 307o, do*e': enqj d'a' 2'oo'000 e'ie)o dnoau aJei

dod:baogro.

-2-

SECTION - B/ Dqnd - a

Answeranythreequestions'EachquestioncarriesGmarks:

oJndloaddJo $./ocb br/nn w$ox.,' -ss 6dJ 6 e'odrl$b:

f

2. Prepare a schedule of changes in working capital from the following :

Liabilities31.3.201931.3-2020Assets31.3.2019
i

Share capital i 5,o0,ooo 6,00,00q Fixed Assets 6'30'000

,*t

Reserves 1,50,090 1'80'OO0 Stock 2'40'000

P&L a/c 4o,ooo i 65,000 Debtors 2'50'000

Debentures3,60,0003,3O'OOOCashinhand30'000

Creditors 1,7O,OOO 1,60'000 Preliminary 20'000

expenses

(3x6=18)

31-3-2020

6,60,000

3,70,000

2,30,000

60,000

15,000

12,20,000 13,35,000 12,20,ooo 13,35,000
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€* ddnd adddeod roo$raeo a:odaad udendd drdo$dldofrotu.

riE ozroo 31-3-2019o

ded; uodaad 5,oo,ooo

Areder: 1,50,000

sEqJ ab* d{and 40,000

rao d$rlsb 3,60,000

dpri* 1,7o,ooo

31-3-2020

6,00,000

1,80,000

65,000

3,30,000

1,60,000

pi9.

uJ o*,iq,
Q3

mB&

cl>odil$t)

drld)

-.ApmrqlDa

31-3-2019

6,30,000

2,40,000

2,50,000

80,000

20,000

sG - 430

31-3-2020

6,60,000

3,70,000

2,30,000

60,000

15,000

70,000

20,000

50,000

25,000

25,000

dCdd)

12,20,000 13,35,000

3. Briefly explain the objectives of Management Accounting.

12,20,000 13,35,000

&drdma Oa*m{d wff drlddliot$aa n adox,.

4. Calculate the trend percentages from the following figures of Kalpana Enterprises

taking 2016 as the 0i.6.
t

J

Net sales i

less : cost of gooddsotd

Gross profit

less : operating expenses

Net operating profit

less : taxes

Profit after tax

2016

1,00,000

60,000

2017

T

90,000
I
I

60,000

2018

{

1,20,000

70,000

2019

t
1,50,000

80,000

40;000

10,000

30,000

15,000

30,000

10,000

20,000

10,000

50,000

15,000

35,000

17,500

15,000 10,000 17,500
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dr,m aooo$ rdx;"d ddnd ero'&- eeodrleod 20 1 6 de ddrddl sqadEUD nr^DJtraod)

dedaaaa& d* adq;riddldod>Aaou:o :

2016

(d.ro.)

1,00,000

60,000

2017 201 I 2019

(d./0.) (d.,0.) (d,4.)

I tilil]t lill llll lllll lllll llll llll

90,000 1,20,000 1,50,000

60,000 70,000 80,000

e9o$rl$t)

- c$o$aod dddrrld dd

dq" *qJ

- roolnr?3ddo$ d?3rid)

O+d roolnrz3ddo$ enqJ

- dori

dorio$ doddd enqJ

t. '

Opening creditors t

Purchase returns

Cash paid to crpditors '

rl

Closino creditorsv l,t

dro[^3dJd

noOrid agdo$d do$

dood{$1"sad{dna&dd)

na Odori ddcjr Ero rd&d)d)

40,000

10,000

30,000

15,000

15,000

30,000

10,000

50,000

15,000

70,000

20,000

20,000

10,000

35,000

17,500

50,000

25,000

l_0,ooo_ _1_?,500_ _25,000_

5. Calculate creditors turnover ratio from the following information given below :

T

50,000

10,000

2,60,000

30,000.

dDbeobod ;oorld daanulr $#eaddldod:baouro :

I

dJo.

,50,ooo

10,000

2,60,000

30,000.;oOrid drEo$d dod
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6. From the following information, calculate cash from operations of Ajay Ltd. for

the year ending 31't March 2020.

Particulars

Cash

S/Debtors

Stock

B/R

Creditors

BIP

O/S Rent

31-03-2019

t
65,000

55,000

70,000

45,000

45,000

40,000

5,000

31-03-2020

{

50,000

47,000

85,000

53,000

50,000

35,000

3,000

Adjustments to be taken into consideration.

a) Depreciation on Machinery t 12,000.

b) Goodwill written off T 4,000.

c) Loss on sale of *"[ninery t 1,OOO.

31-3-2020 d dradri erzgoJf dodpc: zdt^udo,tdrigod uod ddddlddroe{aqDdaod
dod>Eoaouo: 

!

sddrld)
i
i

drleb $r

ut:sdrl$b

65DBdl

udzjeaod d>oadqt)

dort*
dodaJerod dloadsb

' dodaJerod emari

31-03-2019

dJo.

65,000

55,000

zo,ooo

45,000 ,

45,000

40,000

5,000

31-03-2020

d/0.

50,000

47,000

85,000

53,000

50,000

35,000

3,000
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edd *Ebe:
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(3x14=42)

a) o3:o$rld d;eOd idde dro. 12,OOO.

b) t'ooaab do. 4,000 drld> aadenhd.

c) oJro9 d>oan:ood erd d*d". 1,000.

SECTION - C/ eqnrl - :r

Answer any three questions. Each question carries 14 marks :

oJndenddro dlJacb ddfed w$o,1. de ddf 14 eroddq;b :

7. From the following Balance sheet of Moon Ltd. co. prepare

a) Schedule of changes in working capital.

b) Statement of sources and applications of funds for the year ended 31

March 2020
$; '

Particulars
f

t

S/creditors ,:

I

Bills payable i
*\

Bank overdraft
i

Provision for taxation t

Reserves

Profit and Loss a/c

Share capital

Total

31-3-2019

T

39,500

Q3,780

59,510

40,oo0

, 50,000

39,690

2,00,000

4,62,490

31-3-2020

T

41,135

11,525

50,000

50,000

41,220

2,60,000

4,53,9g0
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2,500

85,175

2,315

1,11,040

1,48,500

1,12,950
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2,700

72,625

735

97,370

1,44,250

1,16,200

20,000

4,53,880

Cash @ Bank

S/Debtors

S/Advances

Stock

Land and Buildings

Plant and Machinery

Goodwill

Total 4,62,480

The following additional information is available :

1) During the year ended 31"t Marcn2020 an interim dividend of

{ 26,000 was paid.

2) The assets of another company were purchased for T 60,000 payable

in fully paid shaheb of the company. These assets consisted of stock

T 21,640, machinery { 18,360 and goodwill t 20,000. ln addition,

sundry purchases of plant made T 5,650.

3) lncome tax paid during the year { 25,000.

abJaC Oe. do. ddnd erxr BmEDao d#*1> $t dBd

a) roCrrgee-r uodrcd udercddd iE*.

J J-e q^q.^-)
o c^Ird@gL,AJU('

b) eQ zJe.:do$ dqosq 31 dnzs"r 2020 ddr{ dodrtoodod dohoxr.

addd$f) 31-312019

dJa.

39,500

33,780

dsdrl$b

dodz,Jeaod d:oadsb

31-3-2020

d.o.

41,135

11,525


